

## **Tabulation of Bids**

Page 1 of 6

Contract ID: 25450 Counties: ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY,

CUMBERLAND, GLOUCESTER, SALEM

Letting Date: February 11, 2025 District(s): S4
Call Order: 450 Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) DAN SWAYZE & SON, INC.		(2) ZONE STRIPING, INC.		(3) TRAFFIC LINES, INC.		
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0001	151006M	1.000	2,791.00000	2,791.00	7,000.00000	7,000.00	15,000.00000	15,000.00
	RMANCE BOND AND NT BOND	DOLL						
0002	152015P	1.000	15,354.90000	15,354.90	7,500.00000	7,500.00	25,000.00000	25,000.00
POLLUT	ION LIABILITY INSUR	ANCE DOLL						
0003	MMR004M	13.000	3,000.00000	39,000.00	3,000.00000	39,000.00	3,000.00000	39,000.00
MOBILIZ	ZATION	U						
0004	MMR005M	4.000	1,500.00000	6,000.00	1,500.00000	6,000.00	1,500.00000	6,000.00
SPECIA	L MOBILIZATION	U						
0005	MMR006M	1.000	4,000.00000	4,000.00	4,000.00000	4,000.00	4,000.00000	4,000.00
EMERG	ENCY MOBILIZATION	U						
0006	MMG018M	2,500.000	1.00000	2,500.00	1.00000	2,500.00	1.00000	2,500.00
FIELD O	FFICE EQUIPMENT	DOLL						



## **Tabulation of Bids**

Page 2 of 6

Contract ID: 25450 Counties: ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY,

CUMBERLAND, GLOUCESTER, SALEM

Letting Date: February 11, 2025 District(s): S4
Call Order: 450 Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) DAN SWAYZE & SON, INC.		(2) ZONE STRIPING, INC.		(3) TRAFFIC LINES, INC.	
		uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0007	158072M	1.000	930.00000	930.00	233.77000	233.77	5,000.00000	5,000.00
OIL ONL TYPE 1	Y EMERGENCY SPILL	KIT, U						
8000	109006M	10,000.000	1.00000	10,000.00	1.00000	10,000.00	1.00000	10,000.00
FORCE	ACCOUNT	DOLL						
0009	MMR080M	23,700.000	0.24000	5,688.00	0.20000	4,740.00	1.00000	23,700.00
CLEARII	NG SITE	LF						
0010	610003M	50,000.000	1.17000	58,500.00	1.00000	50,000.00	2.00000	100,000.00
	C STRIPES, 4" (CALLOU HAN 50,000 L.F.)	JTS LF						
0011	610006M	10,000.000	1.86000	18,600.00	2.00000	20,000.00	3.00000	30,000.00
	C STRIPES, 6" (CALLOU HAN 50,000 L.F.)	JTS LF						

Page 3 of 6



## Tabulation of Bids

Contract ID: 25450 Counties: ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY,

CUMBERLAND, GLOUCESTER, SALEM

Letting Date: February 11, 2025 District(s): S4
Call Order: 450 Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) DAN SWAYZE & SON, II		. (2) ZONE STRIPING, INC.		(3) TRAFFIC LINES, INC.	
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0012	610007M	5,000.000	2.79000	13,950.00	3.00000	15,000.00	4.00000	20,000.00
	STRIPES, 8" (CALLOUIAN 50,000 L.F.)	JTS LF						
0013	610003M	40,000.000	0.93000	37,200.00	0.75000	30,000.00	1.50000	60,000.00
	STRIPES, 4" (CALLOU 00 L.F. AND GREATER)							
0014	610006M	15,000.000	1.86000	27,900.00	1.50000	22,500.00	2.00000	30,000.00
	STRIPES, 6" (CALLOU 00 L.F. AND GREATER)							
0015	610007M	10,000.000	2.75000	27,500.00	2.00000	20,000.00	3.00000	30,000.00
	STRIPES, 8" (CALLOU 00 L.F AND GREATER)							
0016	610060M	7,000.000	18.61000	130,270.00	20.00000	140,000.00	19.00000	133,000.00
TRAFFIC	MARKINGS SYMBOL	S SF						



# **Tabulation of Bids** Page 4 of 6

Contract ID: 25450 Counties: ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY,

CUMBERLAND, GLOUCESTER, SALEM

Letting Date: February 11, 2025 District(s): S4
Call Order: 450 Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) DAN SWAYZE & SON, INC.		(2) ZONE STRIPING, INC.		(3) TRAFFIC LINES, INC.		
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	Roadway	Cat Alt S		Set: Cat A		It Member:	
0017	610013M	2,000.000	1.86000	3,720.00	1.00000	2,000.00	3.00000	6,000.00
TRAFFIC	MARKING LINES, 4"	LF						
0018	610014M	15,000.000	3.72000	55,800.00	5.00000	75,000.00	6.00000	90,000.00
TRAFFIC	MARKING LINES, 8"	LF						
0019	610016M	3,000.000	5.58000	16,740.00	6.00000	18,000.00	9.00000	27,000.00
TRAFFIC	MARKING LINES, 12	." LF						
0020	610017M	6,000.000	12.00000	72,000.00	15.00000	90,000.00	12.00000	72,000.00
TRAFFIC	MARKING LINES, 24	" LF						
0021	610012M	25.000	90.00000	2,250.00	75.00000	1,875.00	98.00000	2,450.00
RPM, MC LENS	DNO-DIRECTIONAL, V	VHITE U						

Page 5 of 6



## Tabulation of Bids

Contract ID: 25450 Counties: ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY,

CUMBERLAND, GLOUCESTER, SALEM

Letting Date: February 11, 2025 District(s): S4
Call Order: 450 Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) DAN SWAYZE & SON, INC.		(2) ZONE STRIPING, INC.		(3) TRAFFIC LINES, INC.	
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0022	610018M	25.000	90.00000	2,250.00	75.00000	1,875.00	98.00000	2,450.00
RPM, MC AMBER I	DNO-DIRECTIONAL, LENS	U						
0023	610021M	25.000	90.00000	2,250.00	75.00000	1,875.00	98.00000	2,450.00
RPM, BI- LENS	DIRECTIONAL, AMBE	ER U						
0024	610024M	150.000	19.80000	2,970.00	1.00000	150.00	30.00000	4,500.00
REMOVA	AL OF RPM	U						
0025	610027M	250.000	14.85000	3,712.50	15.00000	3,750.00	30.00000	7,500.00
REMOVA RPM LEN	AL AND REPLACEMEN NS	NT OF U						
0026	610030M	50.000	99.00000	4,950.00	90.00000	4,500.00	200.00000	10,000.00
FLEXIBL MOUNTE	E DELINEATOR, GRO	OUND U						



**Tabulation of Bids** Page 6 of 6

Contract ID: 25450 Counties: ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY,

CUMBERLAND, GLOUCESTER, SALEM

Letting Date: February 11, 2025 District(s): S4
Call Order: 450 Project(s): N/A

Contract Time: 12/31/26 COMPLETION DATE Min: Max:

Contract Description: MTN Pavement Markings Contract, South - 2025

Line No / Item ID Item Description		(1) DAN SWAYZE & SON, INC.		(2) ZONE STRIPING, INC.		(3) TRAFFIC LINES, INC.			
	t / Alt Member	Quantit	y and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	Ro	adway	Cat Alt Set:		Cat Alt Member:			
0027	610036M	1:	5,000.000	1.40000	21,000.00	1.50000	22,500.00	3.70000	55,500.00
REMOVA	AL OF TRAFFIC	STRIPES	LF						
0028	610039M	•	4,970.000	4.64000	23,060.80	5.50000	27,335.00	7.00000	34,790.00
REMOVA	AL OF TRAFFIC	MARKINGS	SF						
Secti	on Totals:				\$610,887.20		\$627,333.77		\$847,840.00
		Contract To	otals =		\$610,887.20		\$627,333.77		\$847,840.00
Cost Plus Time Totals				\$610,887.20		\$627,333.77		847,840.00	

( ) indicates item is bid as Lump Sum  $\,$ 



**Vendor Ranking** 

Page:

Call Order: 450 Contract ID: 25450 Counties: ATLANTIC,

BURLINGTON,

CAMDEN, CAPE MAY, CUMBERLAND, GLOUCESTER,

SALEM

Letting Date: February 11, 2025 10:00 AM District(s): S4

Contract Time: 12/31/26 COMPLETION DATE

Contract Description: MTN Pavement Markings Contract, South - 2025 Project(s): N/A

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	DAN SWAYZE & SON, INC.	\$610,887.20	100.00%
2	ZONE STRIPING, INC.	\$627,333.77	102.69%
3	TRAFFIC LINES, INC.	\$847,840.00	138.79%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.